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i=5 K], e[ o)
Ks=k, Kus™ "k, [;rl=m [TT[k1lT]1=0

[0- w*(2m)]a, =0 [T IMIT] = 2m

Mence w =0 the V‘i\t]ia/ bod’j Moa/e; oK.
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11.7-2

Let f)‘?‘ be a vector before normalization.
-— ‘r —
Evaluate ¢ in (Qf) MD!=¢
= - -7 =
Scaled vector D. = -r';_—?:" will yield D; M2, =1
From Frob. 11,4—24) wl?-;,) w: :(,) and c =5
Now use Egs. 1.7-5 and U7-C
2 1

{P.%_;_ 2 |J R,%__]__ 2R+ R,
P) rs|1 -2f|R,{ V& | R,-2R,
E7. 13.6-5 ields

2+ 2, = (2R, +R) V3
éz"'él?z = (R,-ZRZ)/VZ
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Solution 6F this eigeu/?r‘a)alem (dic(a/;

X, = 0. 3%196C , T 0.6(8034

)\ = 2618073 = 615034

El’cu vec'l‘ofs respec n »’elj un-normalized and

are

VlOfMd{li‘e )

(C) Covnparc jrw esf m¢‘7h/ 7Lua/é’5 I"egd'/
less of the Trmes at-which ﬂleg appear;

0.7236
So230r 02764 - 9723¢ (27.6 % errer
in u,)
171 =0.8727 (12 7% error
1171 +0.170% oty )

{ l }__,50.52573} I _fossocs
[.61€03 4,¥5065 , -0.6(%034) (-0.52573

0.52573 0.¥5065
0.$5065 —p52573

Initia( Covw(ﬂllows} using Eq, I1.7-4 are

RSB EARCII et

w}ﬂl gt'

Hence [¢1=
2Zi=A,smuw;t 1+ 5; cascu‘lL
2, =0.85065 =A, (061%) }A, = 13764
Z? -—0'3144 sin Ié{? t
| tz=0 ¢=I

t=2 t=3 t=4 t=5

pi —0 Es. 14.7-6 bys the solulion

o7z3os,noe(%t 027c4sm/L/8t
[ A7] sinO.6(5t +0.170F Sin l.61TL

B =0 becaase Z; =0 ot £ =0.

Next, 2 = /4 w; Cos vy t and a ¢ =O

éz ==).52573= /42_(/.6,/8) /}z=-4 3244
= 13764 sin 0.61%L

By E9,11.7-4, Ry=1¢41"{2} grclds
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